SEMEMPE S—82FRAKR  HH: 103.03.28

] ae wa [FRIE_J
-1 ZEHE ~ F=1O
£ PESH Z

—lHRE BEI1092)
13EA={1,3,¢-x-3},B={2,x+ 1,2 +x-2,-2x+ 1}, = ANB={-1,3},H|x=
-1
g | X -x-3=-1 = x=-1, 2,
x=—1 = B={2, 0, -1, 3}:x=2 = B={2, 3, 8, -3} (X&),
.. X=—1.
2.3600 (1)A. EERE . (QELERE T, A {fEE 30 AfEEs .
(1)45;(2)16
(1)3600 = 2* x 3%x 52,
3600 HYIEREA 5 x 3 x 3 =45 (i .
(2)3600 =30 x 120 =30 (2°x 3 x 5) ,
FT LA 3600 HYIEREF, 30 FUMSHE 4x2x2=16{# .
3. A A, A

(1) A — EFEERE L. (A — CERERAE_ EEE.
D -
| |
E
A | B
(1)21;(2)84
fiE T
: 6 2 84~
Y55 15 363|6 42
S I TR )
B3 T6 6 2
/; 2 |4 5 6
111 1
4.1 % 800 WY H AR P8 42 H'EEH & .

BT | 1% 800 Ay LhEhEL 42 BB, B[ 2 53 5k 7 HfEK
800 800 800 800 800 800 800
= 800_([7]+[?]+[7]_[?]_[E]_[I]+[E])
=800 — (400 + 266 + 114 — 133 — 38 — 57 + 19) = 229 .
SATZERA, X, y, z ALKEYS Ry H B BLRERE R V17 (B, 355 & .

s | 48
ey e =17 = Rayie =17,

SeERE 0<x<y<zHfEHe
£1E




z
4
3

N O| X
N =<

I
ﬁﬁﬁ%ﬁ—ﬁﬂ%!xeZ-&% x2x2x2=48 .

(. rtrt
64N, &/NIFHE R Lem (YIS . ARIE A A/ VNI IE S0 A .

50

# Ixlem?:4x6=24 , 2x2cm?:3x5=15,
3x3cm?:2x4=8 , 4x4cm®:1x3=3,
HIj #4524 +15+8+3=501{ .

H|®
3|3

7. [EIRSE 3 K AHEIRTRS T, SREREA R 9 HIETR A T .
fE% | 6

(1, 2, 6), L, 3, 5, (1, 4, 4, 2, 2, 5), (2, 3, 4), (3, 3, 3), 67 .

£2H



